

$$\text{if } A = \frac{r}{c} \Rightarrow B + rB = \frac{1}{w} \Rightarrow d \geq 1$$

$\Lambda(-1)_{219}$

$$\text{if } \beta_2 = \frac{r}{c} \Rightarrow \beta_1 + c\beta_2 = \frac{r}{c} - r \geq 0.5 - 1$$

$$x_{L, \beta} \Rightarrow \sqrt{\frac{1}{L}} + \sqrt{\frac{1}{\beta}} = \omega \Rightarrow \Gamma_{L, \beta} \propto \sqrt{\frac{1}{L}} + \frac{1}{\beta}$$

$$r_{\phi 2} = \frac{1}{\alpha} + \frac{1}{\phi} \cdot r_{\psi \psi}$$

$$1^{\circ} \quad \frac{1}{\alpha} + \frac{1}{\beta} \Rightarrow \frac{\alpha + \beta}{\alpha\beta} = 1 \Rightarrow \frac{\alpha + \beta}{1} = 1 \Rightarrow \alpha + \beta = 1$$

$$m+1 \leq z \leq n$$

$$m \geq 1$$

$$-x^T + Cg + \gamma z = \alpha' X \beta' \frac{z}{\|z\|} - \gamma$$

$$\Gamma x^c + K x^F + q x - r_2 = 0 \Rightarrow m(x - \alpha) \dot{x} (x - \beta) \rightarrow (x - \alpha + \alpha^F) \dot{x} (x - \beta) \rightarrow -w$$

$$2. (x^T + \alpha^T x - \tau \alpha x^T - \beta x^T - \beta \alpha^T - \tau \alpha \beta x) - \frac{\beta \alpha^T x}{\tau}$$

$$\frac{\beta \gamma^T}{\alpha \beta} = \alpha = \frac{1}{\frac{1}{\alpha}} \Rightarrow \alpha = \frac{1}{\alpha} \Rightarrow \alpha^2 = (\alpha + \beta) \alpha \gamma^T = \frac{\alpha}{\alpha} \gamma^T = \gamma^T$$

$$\tau + \beta \varepsilon - \gamma, \quad \alpha \beta \varepsilon \alpha$$

$$B = \gamma - \alpha \rightarrow B \frac{1}{2} \Gamma (\gamma \gamma + \gamma \alpha + \alpha^2) + \gamma \alpha^2 \frac{\partial \alpha^2}{\partial \gamma} \sqrt{\Gamma} + \gamma \alpha = 12 \sqrt{5} \Lambda d$$

$$\alpha \alpha^T + \alpha \alpha^T \frac{1}{\sqrt{2}} + \alpha \alpha^T \rightarrow \alpha = \frac{-1 \pm \sqrt{1 + \frac{1}{2}}}{2} \Rightarrow \alpha = \frac{-1 \pm \sqrt{3}}{2}$$

$$\alpha x_4^2 + x_4^2 - 1 = 0 \Rightarrow x_4 = 1 \text{ or } x_4 = -1$$

$$x^2 + t \Rightarrow t^2 - vt - d = 0 \quad -d$$

$$d = t_1 + t_2, \quad t_1 t_2 = -d$$

$$\frac{v \pm \sqrt{49}}{2} = t_1, t_2 \rightarrow \frac{v - \sqrt{49}}{2} \Rightarrow t_2 = \frac{v + \sqrt{49}}{2}$$

$$x_1 = \frac{v + \sqrt{49}}{2}, \quad x_2 = -\frac{v + \sqrt{49}}{2} \Rightarrow p_2 = \left(-\frac{v + \sqrt{49}}{2} \right), \quad S = 0$$

$$\frac{\sqrt{v + \sqrt{49}}}{2} - \sqrt{\frac{v + \sqrt{49}}{2}} \rightarrow r p^2 - v p p_2 + S = d + v \sqrt{49} = 4p^2$$

$$r x^2 - a x + b = 0 \Rightarrow x_1 + x_2 = \frac{a}{r} \quad x_1 + x_2 = x'_1 + x'_2 + 1$$

$$r x^2 + d x - 4 = 0 \Rightarrow x'_1 + x'_2 = -\frac{1}{r} \quad \frac{a}{r} = \frac{1}{r} \Rightarrow a = 1$$

$$r x^2 + x - 4 = 0 \Rightarrow \frac{-1 \pm \sqrt{17}}{2} = -\frac{1}{r} \Rightarrow \frac{1}{r} = \frac{1}{2} \Rightarrow r = 2$$

$$-1 \pm \sqrt{17} = -\frac{1}{r} \Rightarrow b = -4 \quad \left[\frac{1x - 4}{r} \right] = \left[-\frac{1}{r} \right] = -\frac{1}{2}$$

$$\alpha + \beta = S = \frac{a}{r} = 1 \Rightarrow \alpha = 1 - \beta \rightarrow \left(\alpha^2 + 1 + \beta^2 - 2\beta \right) = 2 \quad -V$$

$$2\alpha + 2\beta^2 - 2\beta = 2 \Rightarrow \beta^2 + \alpha + \beta^2 - \beta - 1 = 0 \Rightarrow 2\beta^2 - \beta - 1 = 0$$

$$\frac{2\beta^2 - \beta - 1}{2} = 0 \Rightarrow \beta = 1, -\frac{1}{2} \Rightarrow \alpha = \frac{3}{2}, \frac{3}{2}$$

$$1 - \beta = \rho \Rightarrow \rho = \frac{3}{2}, \frac{3}{2} \quad t_1 + t_2 = 0 \Rightarrow t_2 = -t_1$$

$$t_2 = \frac{10 \pm \sqrt{40}}{2} \quad 1 \pm \frac{\sqrt{10}}{10}$$

$$(r_k+1)(r_k+c) \leq r_k + r_k + c = d$$

$$r_k + r_k = d$$

-1

$$r_k(r_k+1) \leq d \Rightarrow r_k^2 + r_k \leq d$$

$$r_k \leq d$$

$$r_k \leq d$$

$$r_k = -\frac{1}{r_k}$$

$$r_k = -\frac{1}{r_k}$$

$$d \leq r_k$$

$$(r_m)(r_m+1) \leq b$$

$$r_m + r_m = b \Rightarrow m \leq r_m \Rightarrow r_m^2 \leq b$$

$$r_m \leq \sqrt{b}$$

$$|b-d| \leq |r_m - r_k|$$

$$\alpha + \beta = 1, \alpha + \beta = 1 - m^r$$

-9

$$\alpha + \beta = (1 + \beta)^r - r\alpha\beta = 1 - r(-1 - m^r) \sqrt{1 + r + m^r}$$

$$(u) \leftarrow m < 0$$

$$d r_k + b r_k + c = 0$$

-10

$$r d + d b + c = r a + r b + c$$

$$14d - 1b = 0$$

$$r d - b = 0$$

$$r d = b$$

$$b^r = r a^r$$

$$b^r = r a^r \Rightarrow \frac{b^r}{r} = a^r \Rightarrow \frac{b^r - r a^r}{-r a^r}$$

$$c = d + 1$$

$$r a^r - r a^r = -r a^r$$

$$a - c = -1$$

Subo

DATE

$$a\beta^r + r a\beta + a + 1 = 0$$

$$a\alpha^r + r a\alpha + a + 1 = 0$$

$$\beta + \alpha^2 - \frac{b}{a} = \frac{r a + 1}{a}$$

$$\Rightarrow \alpha^2 = \frac{1+\alpha}{a}$$

$$\alpha^2 \beta^r + r \alpha \beta^2 + a \beta^2 = 0$$

$$\alpha - r \left(\frac{a+1}{a} \right) = \alpha \Rightarrow \frac{a+1}{a} = \frac{1}{r}$$

$$r a + r^2 - a \Rightarrow r a^2 - r a = \frac{1}{r} - r$$

$$C_2 = \frac{1}{r} \int$$